KANSAS CORPORATION COMMISSION Oil & Gas Conservation Division 1318901

Form CP-111 Oct 2016 Form must be Typed Form must be signed All blanks must be complete

## **TEMPORARY ABANDONMENT WELL APPLICATION**

OPERATOR: License#				API No. 15-				
Name:				_ Spot Descri	ption:			
Address 1:				_	Se	c Twp S. R	· [	E W
Address 2:						feet from N	=	
City:	State:	Zip:	+			feet from E /		of Section
Contact Person:				GF 5 LOCali	on: Lat:	g. xx.xxxxx)	(e.gxxx.xxxxx)	
Phone:( )						D83WGS84 Elevation:	G	і Пкв
Contact Person Email:				Loopo Nom		Well a		
Field Contact Person:					check one) 🗌 (	Dil 🗌 Gas 🗌 OG 🗌 WSW 🔄	Other:	
Field Contact Person Phone				SWD Pe	ermit #:	ENHR Permi	t #:	
Theid Contact T erson Thome				Gas Sto	0			
				Spud Date:		Date Shut-In:		
	Conductor	Surface		Production	Intermedia	ite Liner	Tubin	g
Size								
Setting Depth								
Amount of Cement								
Top of Cement								
Bottom of Cement								
Casing Fluid Level from Sur	face		How Determin	ed?		Da	to:	
-								
(top)	(bottom)	, 000		(top)	(bottom)	sacks of cement. Da		
Do you have a valid Oil & Ga	as Lease? 🗌 Yes 🛛	No						
Depth and Type: Junk i	n Hole at	Tools in Hole a	it	Casing Leaks:	Yes No	Depth of casing leak(s):		
						Port Collar: w /		of cement
Packer Type:								
Total Depth:	Plug Ba	ack Depth:		Plug Back Method	od:			
Geological Date:								
Formation Name	Formatio	n Top Formation	Base		Comp	pletion Information		
	At	to	Feet P	erforation Interval _	to	Feet or Open Hole Interval	to	Feet
1	/							

# Submitted Electronically

Do NOT Write in This Space - KCC USE ONLY	Date Tested:	Results:	Date Plugged:	Date Repaired:	Date Put Back in Service:
Review Completed by:		Comments:			
TA Approved: 🗌 Yes 🗌 [	Denied Date:				

#### Mail to the Appropriate KCC Conservation Office:

Norm tools have not not an and have been seen and the long	KCC District Office #1 - 210 E. Frontview, Suite A, Dodge City, KS 67801	Phone 620.225.8888
	KCC District Office #2 - 3450 N. Rock Road, Building 600, Suite 601, Wichita, KS 67226	Phone 316.337.7400
	KCC District Office #3 - 1500 SW Seventh Steet, Chanute, KS 66720	Phone 620.432.2300
And here here the later here here here here here here here h	KCC District Office #4 - 2301 E. 13th Street, Hays, KS 67601-2651	Phone 785.625.0550

MÍ	nco	Ň			SALES & SERVICE INVOICE # PAGE #
CUSTOMER			1	2.11	LEASE: <u>Raymend</u> Cor
MIDCON	Jake	prod	UCTION	DATE: 3-11	-1 L WELEND: ( 10-762-7400)
REPRESEN	TATIVE: R	zh_		DISTRICT: GB	TUBING: 27/07 ELE (620-793-7400)
кв: 2		CASING: 7 SIZE/WT: 2	o#	LINER: SIZE/WT:	SIZEANT: FINAL:
MAX.	MIN.			WELL	110 HS MA RACK DESCRIPTION
0.D.	I.D.	LENGTH	DEPTH	PROFILE	ON Lice BIOD
3.5	6.12				Tully Jub SN, FB, FAU RT+ COP.
いこ	1.10				Due hale to 27/24ts out 2705
FBU	2.12	<b>.</b>			set CAD Pull 1/2 Ht & Steb Rubby
FB	3.12				Sof ARR 2688 23 its out Louis
FB RT	3.25	l			Fubing + pressore test tools to
COP	1.8				1500#5 Relucie Abr + load hole.
OJELALL	7.35	•			Test casing to 350# 5. Held sold
					Sar Smin- Released tools
					pulled rubber & TOH.
					MCOT Dave
			ĺ		
	•				
	•		1.10		
			104 C 2360	ſ	
			2300		
		·			
		•	ΞB		``````
	~		FB 2688'	0 0	
			-	1	
				~~~	
			2705'	$\geq$	
				ľ	
				}	
			open hole	3	
			3058-92	BMB -	
			50.00 10	2	1

0	NBOLIDAT	, LLC	<b>V</b>	NTERED		LOCATION E	er <u>363</u> u <i>feka</i> ww <i>M</i> cCoy	
		PHE	LD TICKE	T& TREAT	MENT REP	ORT		
x 884, Cha	nute, KS 66720 800-467-8676	·		CEMENT	「	TOWNSHIP	RANGE	COUNT
	CUSTOMER #		NAME & NUM		SECTION	TOWNSHIP		
	1298	BANMON	d w. Cex	-+/	23	155	9E	Morris
				GLACIER	TRUCK #	DRIVER	TRUCK#	DRIVE
BLAKE	PROduction	N Co., IN	<u>'C.</u>	Well		CALIN H.		
NG ADDRES			- 1700	Service				
1601 N	W. EXPRES	STATE	ZIP CODE	-1 [			ļ	
Viahan	a Calu	oK	73118					L
				HOLE DEPTH	3092	CASING SIZE &	NEIGHT	L. 1. 3088.
Plan De humbert l'a sale								
	r i	SLURRY VOL		WATER Gave	R			
LACEMENT	1	DISPLACEME	NT PSI	MIX PSI		RATE	1/2 Tite	1 2" PK
ARKS: SA	Fety Meetin	9: RBP	Set @ 2	700' . PACK	ree Set @	2685 W/2	10 1001-19 9	"Casino
ST KEP	@ 1500 Mor	. 6000 /C		alate P.	doutes	•		
					A SERVICES or	PRODUCT	UNIT PRICE	τοτ/
		' or UNITS			of SERVICES or	PRODUCT		
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA		of SERVICES or	PRODUCT	200.00	800.
CODE	4		PUMP CHA			PRODUCT	200.00	800. 280

A schooled by the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.



### INVOICE

## Glacier Well Service

825 Commercial, P.O. Box 577 Emporia, KS 66801 Shop: 620-343-3347 Office: 620-342-1148 MAR 2 1 2012

SOLD TO:	
	Blake Production Company
1	1601 NW Expressway, Suite 1200
1	Oklahoma City, OK 73118

Invoice #	16725
Invoice Date Ordered By	3/19/2012 Jeff S
Work Date	3/16/2012

LEASE / WELL # : Raymond Cox #1		405-368-4084 580-603-3135
Pulled from Well	Equipment	Run in Well
Size: Type:	Sucker Rods	Size : Type :
2' 4' 6' 8' 10'	Rod Subs	2' 4' 6' 8' 10'
Pump or Valve:	Pump or	Pump or Valve:
Description:	Valves	Description:
Strainer: Size of G.A.	Gas Anchor	Strainer: Size of G.A.
Size : 87 Its 2 7/8" Brd EUE Type :	Tubing	Size : Type :
2' 4' 1-5' 8' 10'	Tubing Subs	2' 4' 6' 8' 10'
Size: 7 1/2" Piug	Working Bbl	Size:
Plugged or Open: Size:	Mud Anchor	Plugged or Open: Size:
Type: Baker Size: 7 1/2*	Packer	Type: Size:
Length: Diameter:	Polish Rod	Length: Diameter:
Length: Diameter:	P, Rod Liner	Length: Diameter:
	F	
Rod Break: # Down: Body:	Box:	Other:
Tubing Leak: #Jts. Down: Split:	Hole:	Collar Leak: Other:

	Description		Amount
	Work Description:		
İ	Drove to location, SR, wait for tools,		
	RiH plug, packer and 87 jts 2 7/8",		
	set plug at 2727, pulled		
	one it, set packer, pressure tested		
	to 300 psi, held test, unset packer,		
1	retrieved plug, TOOH, cleaned up		
	plug and packer, wait for sand pump,	1	1
	RIH w/ sand pump to 3100 ft. (TD),		
	RIH 3 more times w/ sand pump,		
	set up swab tank, cleaned sand		
	pump, PU tools, SD over weekend.		
	Remarks:		
10.25	Single drum - per hour	\$166.0	
	Power Tongs	\$60.0	
0.00	Fishing Tool	\$60.0	
0.00	Paint and Fuel (5 gal Diesel, 1/2 can paint)	\$32.5	
0.50	Dope	\$49.6	
	Sand Pump	\$125.0	
	Unit #117 (C175 Track Skid Loader w/ forks)	\$65.0	
	Galion(s) of Off-Road Diesel	\$3.9	
	Pump and Swivel (Day Rate)	\$1,250.0	
0.00	Elevators (1.9 MYT, 5 days)	\$248.0	0 \$0
		Subtotal Morris Sales Tax: 7.30%	\$ 139
	BJECT TO A FINANCE CHARGE COMPUTED AT AN	Morris Sales Tax: 7.30%	a 138
INUAL RATE (	OF 18.0% (1.5% MONTHLY) ON ANY UNPAID BALANCE.		\$2,050
			Pay This
uestions cor	ncerning this invoice?		Amount

#### THANK YOU FOR YOUR BUSINESS!

3/19/201212:59 PMBlakeProd#3

.

าม	a	45 G	AUGI	E REP	<u> </u>			ч. н. <sup>1</sup>		ayn			Cor		ι	1	e e dour le se	fki)	5 S. A. 143	i de la comise		PPOD	1	2010 CH 1 1 10	РЕЛЮВ COVEL 4-1	OIL SAL	FS		-30-	É
T		and the second	PRESS	URE DAT	A AND	GAS SAL	ES		TANK SU	210	TANK SU	210	TANK S	IZE.	1		O	IL.		TANK SIZ		ROD.			1			r	• • • • • • • • • • • • • • • • • • • •	+
F		T	T	Τ					TANK #		TANK #	1	TANK *				01 PROD	UCED		TANK #	.t.		DATE	TANK	TICKET	FR	OM		то	
DAYS	HRS.	CHOKE	FTP	FCP	LP	DIFF.	PLATE SIZE	MCF	L	_/_		-							RELS	FT.	IN.	BARRELS	DATE	NO	NUMBER	FT.	IN.	FT.	IN.	-  '
		1				ļ			FT	- <u>IN</u>	PT.	- 41	F.T	I N		FT .	114.	DAT	inclo			LATITICES .	<u>+</u>				1			
1						<u> </u>		1	- ·			1 .											1		· · · · · · · · · · · · · · · · · · ·	1 - 1.000 1.000 -2		1.00 - 1.00, 1.000 and 1		1
2		L		ļ					<b> </b>		-	1			-		1 f					· · · · ·		-			·		1	
3		l	L					ļ	4			1 .					÷						1		1	1			+	1
2 3 4 5 6						1			4.	-				1		•••••							+					la		·   · -
5			I		L		ļ		<b>.</b>								í			<u> </u>						L				1
6					L		<u> </u>		1		1								· ······							<b></b>		L		- <del> </del> -
7								ļ	1.						- <u>*</u> -			4				f	4		1		· · ·		1	+
8						L			1.	1			2				. · ·						<b>.</b>	1.0.0			-		1	
9					L		L	1					1	1			6					+	-		1		1	í		
10		1				1			1		ļ		!	1	i.		<u>.</u>	.   · · ·				+	4			1.1.1.1	-!			
11		T	T					<u> </u>	1		1		1				•						-		1		1			1
12		1									ŧ		`					1		ļ			-					1	ļ	
13		1	1		T	T	T		1											1							÷ , :		1	
14			1	1	T	T					1									Į			-				1.1.1		1	
13			1			1	T		1											ļ			-		1		1.1		į	
10			1		1													1		t		ļ					÷	f	1	1
17	-	1	1		1	1	1		1											1	 		-				:		1	
18		+	1		†	1		ſ	1																			:		1
19			† – –		T	1		1	1																		÷			{
20		- <u>†</u>	+		1	T			1																					
			+				1	1	1											1			·		1			1		1
21					t	· • • • • • • • • • • • • • • • • • • •			1											4 1						•			:	
22 21		+	+		· • • • • •		i jan se o		:											:						1			s	1
	1	+			-j	· • • • • • •		1	ž																	1				
						1.0			1											1						÷., .	l.			
26		+	-		. i			4	1								t	1		1					:			<u>.</u>	-	
20	-	+			÷	-+		1	Ţ				1		, i			ł							Inspection D	ate: 4	-10-1	2	-	1
			-	+	1	+				;														Dikes		Vellhead/F	Incline	V	-	1.
28			+	+				-			inden i sener E	18 - Salar - 11	- 1				1	1		1			1 1	SW Tanks			iowillie		-	
29				+	+		- +	1	1		1.1	1.1	;		1		1			1				Stock Tanks		emarks:				1
31 31			+	+	+	+		+				1	Ĩ	ì			1							Gunbarrel						
	<u> </u>			+	+	+		+	+	+		1	· · · ·				1	-	<b>-</b>		1	1	T				3	1	1	
1	l	1	<u></u>			1	, COM	MENTS	der av	1			,				107	1		1		1		CALMERT THE REAL			1	1 1 10 10	TOTAL	
			- 11	01		497	- 0	1010							· · · -	W.Y-1	WERAG	ie –		7			l:		SUN	MARY OF	STOCKS		1	
-		W	e//	Ø	<u>`</u>	w~4 /	CK				•••							F F	UMPIN	G WELLS	малы то то 5					Fié	LO USE		OFF	ICE L
e								*******									સમાર	and the second second problem in the	a sea and home-home-home-home-home-home-home-home-	LENC PH		1.200 HEE	ISTOCK SF	ID OF MONTH						
<b>1</b>																							NG9 (225)	INF RUNC	1			T		
															1			1.1	•		1		LESS 510	CK FIRST OF N	10NTH					
										··· · · - ·										-	1		тзувоян	ION FOR MON	TH: A		4	. 1	11	
						·										• • •					1		BEICHATUP	E-PUMPLE	bru	•			Ι	
																									111.	A . 7	n lla	10		



Phone: 316-337-7400 Fax: 316-630-4005 http://kcc.ks.gov/

Jay Scott Emler, Chairman Shari Feist Albrecht, Commissioner Pat Apple, Commissioner Sam Brownback, Governor

October 21, 2016

Renee Coon Blake Production Co., Inc. 1601 NW EXPRESSWAY STE 777 OKLAHOMA CITY, OK 73118-1463

Re: Temporary Abandonment API 15-127-00171-00-00 COX 1 SE/4 Sec.23-15S-09E Morris County, Kansas

Dear Renee Coon:

"Your temporary abandonment (TA) application for the well listed above has been approved. In accordance with K.A.R. 82-3-111 the TA status of this well will expire 10/21/2017.

\* If you return this well to service or plug it, please notify the District Office.

\* If you sell this well you are required to file a Transfer of Operator form, T-1.

\* If the well will remain temporarily abandoned, you must submit a new TA application, CP-111, before 10/21/2017.

You may contact me at the number above if you have questions.

Very truly yours,

Jonathan Hill"